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QUESTION 1

Which command creates the .depend.boot, .depend.start, and .depend.stop files in /etc/init.d/?
A. init

B. insserv

C. mkinitrd

D. mkreiserfs

Correct Answer: B

QUESTION 2

How do you start a YaST module (for instance, the sw_single module used to install software) directly from the
command line? (Choose 2.)

A. yast sw_single

B. yast2 sw_single

C. yast2 -m sw_single

D. yast --start sw_single

E. yast2 --module sw_single

Correct Answer:. AB

QUESTION 3

Which statements about partitions are correct? (Choose 3.)

A. Extended partitions can be subdivided into logical partitions.

B. A primary partition consists of a continuous range of cylinders.

C. Logical partitions do not require entries in the main partition table.

D. If you use only primary partitions, you are limited to eight partitions per disk.

E. SUSE Linux Enterprise Server 10 can only be installed on a primary partition.

F. To install more than one operating system on a partition, the partition has to include the entire cylinder range.

Correct Answer: ABC
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QUESTION 4

Which statement about a differential backup is correct?

A. The use of differential backups is limited to backups on tape roboters.

B. To restore a differential backup, you need the last differential backup only.

C. To restore a differential backup, you need the last full backup and the last differential backup that was made since
the last full backup.

D. The amount of data that needs to be backed up with each differential backup depends only on the amount of data
changed since the last differential backup.

Correct Answer: C

QUESTION 5

Which statement about the /sbin/ldconfig command is correct?

A. The Idconfig command is used to link directories.

B. The Idconfig command is used to configure an LDAP connection.

C. The Idconfig command is used to update the software library cache.

D. The Idconfig command is used to show dynamic libraries needed by a program.

Correct Answer: C
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